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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]

390 1 setVl ETol A
300 4 setVIl fgRec

——

—o—

—@— setVI_VN / \
—0— slSetVl

250 -

200

150

0 5 10 15 20 25 30 35



1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VI _pcterr’] missing

0.0

0.2 0.4 0.6 0.8

1.

Plot ['VI pcterr’, 'VO pcterr’, 'VN pcterr’]

1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VO _pcterr’] missing

0.0

0.2 0.4 0.6 0.8

1.

1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VN_pcterr’'] missing

0.0

0.2 0.4 0.6 0.8

1.
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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36 -

34 L5

—0— ME

5é0 5é5
m=775,n FV0=0

40 -

38 -

36

34 -

32 -

—o— M_E

7é0 7é5
m=900,n FV0=0

43 -

42 -

41

40 -

39 A

38 -

—o— ME

900

965 9i0
m=1045q FV0=0

43 -

42 -

41 -

40

39 A

38 A

-o— ME

1045

1050 1055




m=460, FV0=0

31.04 ~& MW
30. 5 -
30. 0 1
29.5 -
29.0 1
28.5 -
28 - T T T T T T
600 800 1000 460 465 470
m=610,m FV0=0 m=675,m FV0=0
34.5 1 —— MW —— MW
34.0 -
34.0 -
33.5 -
33.5 1
33.0 1
33.0 1
32.5 -
32.5 -
32.0 1
32.0 1
T T T T T T
610 615 620 675 680 685
m=810,m FV0=0 m=845,m FV0=0
35.5
35.0 - —— MW —— MW
35.0 -
34.5 -
34.5 -
34.0 -
34.0 1
33.5 1
33.5 1
33.0
810 815 820 846 848 850
m=935,m FV0=0 m=970,m FV0=0
—— MW 36.0 1 —— MW
35.5 -
35.5 -
35.0 1
35.0 -
34.5 1
34.5 -
34.0

940 945

970

975

980

33.

32.

32.

31.

31.

30.

30.

34.

34.

33.

33.

32.

35.

35.

34.

34.

36.

35.

35.

34.

m=500, FVO0=0
01 —8— MW
5 4
04
5 4
04
5
0 - T T T
500 505 510
m=720,m FV0=0
—— MW
5 4
04
5 4
04
5 4
720 725 730
m=870,m FV0=0

—— MW

7

855 8é0
m=1005m FV0=0

870

-— MW

i
i

1005 1010 1015

34.

33.

33.

32.

32.

34.

34.

33.

33.

32.

35.

35.

34.

34.

36.

35.

35.

34.

m=535, FV0=0

—— MW

560
m=775,n FV0=0

T
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—— MW
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m=900,n FV0=0

T
785
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965 9i
m=1045q FV0=0
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1050
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G3-1

BYiE) | GEBIATIK () | EHME (EH/&) | EBRERE (/X)) | KR R

08:00 226 130.0 2.808 |Z=| {Ri%e08:00 Bz (KREAEZEEE)
09:00 226 130.0 2.808 |Z=| {Ri%e09:00 Bz (KEAEZEHE)
10:45 226 130.0 2.808 (Z=| 1Ri%@10:45 Bz (REAEDSE)
11:45 226 130.0 2.808 (Z=| 1Rige11:45 Bz (REAERSE)
13:10 226 130.0 2.808 |/)hfli| 1Ri&e@13:10 Bzh (GRAEREE)
14:00 226 130.0 2. 808 FA| 1BRi%@14:00 B3h (RABERESE)
14:50 226 130.0 2. 808 FA| 1BRi%@14:50 B3h (KRAHERSE)
16:20 226 130.0 2.808 |Z=| {Ri%e16:20 Bz (REAEZEHE)
23t]1808.0 (8%) 1040.0 32 3KEC: 2500.0, PH: 6.5

BEXRERIPH (10.36) 5i8EPH (6.5) IREWR K, BT
FEREIPH (10.36) 5FMPH (6.5 REKK, FHE
#[ERECE (2753.0 vs 4658.0) 15
LORGEBIPH (10.4) 5i1&EE (6.5) wERK, BRE.

LORGEBIPH (10.4) S5#AE (6.5) REHKK, BHRE.




G3-1_0, Day=28 (2025-06-09)

1690 VEBABRY. ET — VI, VO, FVI, FVO, FRV, ad jFRV, ET [ 2000
100 - 139820 | 1500 T
119 1125 °
26{ 1000 .E
50 =
30 - 500 “+
64 Warning: lcol [FVI',| "FVO’'] missing
04 -0
_. 150 { VI — ME {40
= i maxM . |
£ L 35
©
El100- L 30 =
E
> 50 L 25
[
1.0 20
U
0.8
0.6
0.4
0.2
Warning: lcol ["WC1',  "WC2'] missing
0.0
optEC0=2500. 0, setECB=2500. 0 —¢  ECB*10%
« © ® ECC
2600 - ° e o ©®
°
----------------------- e3¢ > VRS AR SYSYRIPRY Sy ———
2400 -
°
e °
o © ° o © e o 0 o ° ® ,
104 optPHO=6.5. setPHB=6.5 ——  PHB¥10% P
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+ +
£ | L 3000 £
s 1 =
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= : L 2000 =
\ ~—
E I 5
,_ I - 1000 £
(AN 1 II o
010 1 21 3] 4] 5 6 7 8 9 0] 1121311l 78] ]2071 2]2[23]°
SRR 3 3 2 0 G 0 - [
c 1 B c
< 3001 ByEt @D28 19:07: ET=1260 Fg=1320.0 Ro=nan : =
s ] L 2000 =
200 - ! =
= - : : : : 1oooE
- [
=100 - I 3
1
0150 1 21 3] 4] 5 6 7 8 1 9 0] 11 [12] 3114 li6]17]i8]m0 20T 2r]212]°
R VR EFNEFIEFIN FH BH | BB |g=|2=|2=|Z2=2=2=|0W| B | 22|28 |25 5= |22 B 5 30003
c 1 B c
= 300 { BylWoFv @D30 02:09: ET=926 Fg=1040.0 Ro=227.0 =
s I L 2000 =
S 200 A : =
= ' *—o—o—o 1000 2
- [
1
10155 1 21 3] 4] 5 6 7 8 1 9 0] 111213 |14 li6] 78] 20T 2r]2]2]°
0 lBEIBZ 2= B | B | B | B 3232272212221 0m| B 5215232222225 % | &
0.6
0.4
0.2
0.0
1500 4 _— o
[ ] | _obs
1000 - —@— PPFD obs
500
2.0 o ,
~ ® VP
* 5.




m=395, FV0=0 m=435, FV0=0 m=585, FV0=0

—— ME 36 - —— ME —&— ME
32 i
34
30 - 34 N
32
28 39
30
26 30 -
28
24 28
26
22
26 -
T T T T T T T T T 24 ] T T T
600 800 1000 395 400 405 455 460 465 585 590 595
m=665,m FV0=0 m=715,m FV0=0 m=780,m FV0=0 m=830,m FV0=0
38
- UF 36 - - ME —o— IE 38 - —— ME
36 -
34 1 36
34 -
321 34 -
32 -
30
32
30 -
28
30
T T T T T 28 L T T T T T T
670 675 715 720 725 780 785 790 830 835 840
m=870,m FV0=0 m=915,m FV0=0 m=965,m FV0=0 m=1030m FVO=0
40 40 -
—— ME —o— ME —o— ME —o— ME
38 28 .
36
36 - 36 4
34
34 - 34
875 880 915 920 925 965 970 975 1030 1035 1040
m m=395,m FV0=0 m=455,m FV0=0 m=585,m FV0=0
24.75 4 —@— MW 27.04 —@— MW - MW
24. 50 -
50 26, 5 - 27.0
24. 25
26. 0 26. 5
24.00
25.5 -
23. 75 26. 0 -
23. 50 - 25.0 1
600 800 1000 395 400 405 455 460 465 585 590 595



27.

27.

26.

26.

30.

30.

29.

29.

28.

m=665, FV0=0 m=715, FV0=0
—— MW —— MW
5 - 28.5 -
28.0
0_
27.5 1
5_
27.0
0_
T T T 265 T T T
665 670 675 715 720 725
m=870,m FV0=0 m=915,m FV0=0
—o— MW 31.5 - —o— MW
5_
31.0
0_
30. 5
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30. 0
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29.5 +
5 T T T T T
870 875 880 915 920 925
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m=780, FV0=0

—0— MW

T
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m=965,n FV0=0
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T
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T
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G3-1

BfiE) | EBAK ) | EHE (EHR/HK) | ERERE (/R | XK R

06:05 145 110.0 2.376 = {RRiB006:05 B (RFAEEE)
06:50 145 110.0 2.376 E  1BRi&e06:50 Bzl (RAERE)
07:35 145 110.0 2.376 E|  {Ri&e07:35 Bah (RFE{EREE)
08:45 145 110.0 2.376 = {RRiB008:45 B (FRFAKEE)
09:50 145 110.0 2.376 = RRiB009:50 Bzh (RAEEE)
10:45 145 110.0 2.376 = RRi8010:45 Bz (REAEESE)
11:30 145 110.0 2.376 =l {Rige11:30 B3 (RAERSE)
12:30 145 110.0 2.376 S {Rige12:30 B3 (RAERSE)
13:20 145 110.0 2.376 E| {Rig013:20 B3h (RE{ERSE)
14:00 145 110.0 2.376 E[ BRige14:00 Bz CGRAERSE)
14:50 145 110.0 2.376 S| {Rige14:50 B3 (RAERSE)
15:40 145 110.0 2.376 E BRige15:40 Bz (GRAERESE)
16:30 145 110.0 2.376 E|  {Ri1g@16:30 B3h (RFE{EREE)
17:30 145 110.0 2.376 =l 1Rige17:30 B3 (GRAERSE)
21t+] 2030.0 (14)%) 1540.0 3EGHKEC: 2500.0, PH: 6.5

SRR TER A (0.49 vs 0.56), FIALH % MRS S EEENKERE

LOREBIRTC R IR R E Y (218 vs 193.0))
BRI\ EPRERE124.0 ml.

REXEBIPH (10.53) 5i&EPH (6.4) RER KA, HFHE
REXGEMIPH (10.53) S5FMPH (6.5 RERK, BFRE
#E[EIRECE (2752. 0 vs 4535.0) i35
LOREBIPH (10.4) 58 FE (6.5 RERK, AT,

ERGEBPH (10.4) S5EEEW (6.5 RERK, HRE.




G3-1_0, Day=27 (2025-06-08)

1004 VI, V0, FRV, ET — VI, VO, FVI, FVO, FRV, ad jFRV, ET 1800 1808+t 2000
75 41350 L 1500 L
1318 192 °
50 -ig —1000:
&
25 . — L 500
15 Warning: lcol [FVI',| "FVO’'] missing 64
1581( ;0
_ vl — ME Pgs
T FRV \ il maxM
+ b i ————————————— — (- - e s e A e A e ——— i ——— - .
& 100 = = ——a—x - 30
E_ W]
— =
£ - 25
= 504 L‘i E .
2 it
(o'
o L - L 20
o 1 1|
U
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0.2
Warning: lcol ["WC1',  "WC2'] missing
3000
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2800 - ® ECC
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°
- °
2600 ° o ceo ®0 o
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m=405, FV0=0 m=440, FV0=0 m=500, FV0=0

30 30
- ME —o— ME —&— ME
26 -
28 - 28 -
24
26 26 -
22
24 - 24 7
20 -
22 4 22
T T T T T T T T T T T T T
400 600 800 1000 405 410 415 440 445 450 500 505 510
m=555,m FV0=0 m=610,m FV0=0 m=655,m FV0=0 m=690,m FV0=0
—o— ME —— ME 26 - ME —— ME
28 26 26 -
24
26 - 24 24
24 29 22 1 29 |
22 20 - 207 20 -
T T T T T T T T T T T T
555 560 565 610 615 620 655 660 665 690 695 700
m=730,m FV0=0 m=760,m FV0=0 m=790,m FV0=0 m=820,m FV0=0
30
28 - —o— ME —— ME - ME ” —— ME
25 - 30 -
26 -
30 -
26 28 -
24
28 -
26
22 _ 24 T
24 207
20 - 22 1
2 24
730 735 740 760 765 770 790 795 800 820 825 830
m=850,m FV0=0 m=880,m FV0=0 m=910,m FV0=0 m=940,m FV0=0
341 —e— WE 34 —e— ME il —e— WNE 24 —— MNE
32 i
| 32 32 1
30 -
30 -
30 - 30 1
28 -
28 -
28 28
26 -
26
850 855 860 880 885 890 910 915 920 940 945 950



m=970, FV0=0 m=1000, FV0=0 m=1030, FV0=0

36
- ME —o— ME —6— ME
34
34
34
32 4
32 1
32 1
30 4
30 1
30
28
28 1
T T T T T T T T T T T T T
970 975 980 1000 1005 1010 1030 1035 1040 400 600 800 1000
m=405,m FV0=0 m=440,m FV0=0 m=500,m FV0=0 m=555,m FV0=0
2090 oy y R— 2241 oy 2261 oy
21.8 -
22.3 - 22.5 -
20. 85 -
21.6 - 22.2 - 22.4 -
20. 80 - 22.1 - 22.3 -
21.4 -
22.0 - 22.2 -
20. 75 21 2
21.9 - 22.1 -
20. 70 - 21.0 - 21.8 - 22.0 -
T T T T T T T T T T T T
405 410 415 440 445 450 500 505 510 555 560 565
m=610,m FV0=0 m=655,m FV0=0 m=690,m FV0=0 m=730,m FV0=0
2241 o 2221 o 2231 o wy T
22.3 - 22.2 -
22.1 -
22.4 -
22.2 - 22.1 -
22.0 - 22.2 -
22.1 - 22.0 -
22.0 -
21.9 -
22.0 - 21.9 -
21.8 -
21.9 - 21.8 - 21.8 -
610 615 620 655 660 665 690 695 700 730 735 740
m=760,m FV0=0 m=790,m FV0=0 m=820,m FV0=0 m=850,m FV0=0
23.75 4 —@— MW 05 01 —@— MW 26.007 o ww 26.50 4 ~@— MW
25. 75 -
23. 50 - 26. 25 -
25. 50 -
23. 25 24.5 1 26. 00
25. 25 -
25. 75 -
23. 00 - ’5 00
24.0 - ' 25. 50 -
22.75 - 24.75 -
25. 25 -
22.50 - 23.5 - 24. 50 -
760 765 770 790 795 800 820 825 830 850 855 860



27.0 -

26.5 -

26.0

25.5

29.0 A

28.5 -

28.0 -

27.5 A

m=880, FV0=0

—— MW

T
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8é5 8é0
m=1000m FV0=0

—— MW

T
1000

T T
1005 1010

27.
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T T T
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G3-1

BYiE) | EBAK (R | EHE (EAR/HK) | ERERE (B/R) | XK R

06:05 145 100.0 2.16 & 1RiRe06:05 B (KREAERE)
06:50 145 100. 0 2.16 E 1BRi&e06:50 Bzl (RAEREE)
07:35 145 100.0 2.16 = {BRi8@07:35 B (FRFAEEE)
08:40 145 100.0 2.16 = {RRiB008:40 B (FRFAEEE)
09:45 145 100.0 2.16 5| {Ri%@09:45 Bz (KRAERSE)
10:45 145 100.0 2.16 5| {Ri%@10:45 B3 (RAERSE)
11:30 145 100. 0 2.16 El BRi&e11:30 Bz CGRAEESE)
12:30 145 100.0 2.16 S| {Rige12:30 B3 (RAERSE)
13:20 145 100.0 2.16 E| {Rig013:20 B3h (RE{ERSE)
14:00 145 100.0 2.16 E BRige14:00 Bz CGRAERSE)
14:45 145 100.0 2.16 S| {Rige14:45 B3 (REAERSE)
15:30 145 100. 0 2.16 E BRi%e15:30 Bz (GRAERSE)
16:20 145 100.0 2.16 F BRige16:20 Bz (GRAEREE)
17:15 145 100.0 2.16 =l 1Rige17:15 B3 (GRAERSE)
21t] 2030.0 (14)%) 1400. 0 3EHKEC: 2500.0, PH: 6.4

FOREBATHC R IRAREE N (145 vs 185.0))
EXIASEPREBET8. 0 ml.

REXEBIPH (10.46) 5i&7EPH (6.3) RERK, BFHRE
REXEBIPH (10.46) 5FMPH (6.5) REKRK, HFHRE
BEERECE (2743.0 vs 3920.0) R

ERGEBPH (10.5) 5% EE (6.4) RERK, FNRE.
EREBPH (10.5) S5REEW (6.4) RERK, FRE.



G3-1_0, Day=26 (2025-06-07)
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m=345, FV0=0 m=405, FV0=0 m=460, FV0=0

—o— ME —e— ME —8— ME 96 —— ME
18 1 24
24
16 22 1
22
14 - 201
20
18
T T T T T T T T T T T T T
400 600 800 1000 345 350 355 405 410 415 460 465 470
m=515,m FV0=0 m=575,m FV0=0 m=620,m FV0=0 m=675,m FV0=0
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